Grade 3: Word problems: inverse variation (addition and subtraction) Handout 1

1. Calculate.
475 — 245 = 165 + 47 =
751 -28 = 363 + 145 =

2. Solve the problems.

a) 782 — (105 + 242) =

6) (191 -128): 7 =

B) 539 + (800 — 453) =

ﬁCalculate. \

475 — 245 = 165 + 47 =

751-28 = 363 + 145 =
2. Solve the problems.

2) 782 — (105 + 242) =

6) (191 -128):7 =

Q539 + (800 — 453) = /
ﬁCalculate. \
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751 -28 = 363 + 145 =
2. Solve the problems.

a) 782 — (105 + 242) =

6) (191 —128): 7 =

Q539 + (800 — 453) = J
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